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I Semester B.Com. Examination, October/November 2A12

(Semester Scheme) (Prior to 2011-12 Batch)

COMMERCE

Financial Accounting - |

Max. Marks : 90Time : 3 Hours

Instruction: Answers should be either in Kannadaor in English.

SECTION - A

Answerany ten of the following. Each question carries 2 marks. (10x2=80)

1. a) What do you mean by Royalty ?
b) What is entry for irrecoverable shortworkings in the books of lessor ?
c) Why is Minimum RentClause included in the Royalty Agreement ?
d) Can a seller sieze the assets under instalment system ? Why ?
e) What do you mean by shortworkings ?
f) Mention two methods of calculating purchase consideration.
g) Write any two objectives of Amalgamation.
h) Give any two reasons for conversion of a firm in to a company.
i) Write any two differences between Realization A/c and Revaluation A/c.
j) State two features of hire purchase system.
k) What is an unrecorded asset ?
l) How do you treat an asset of an old firm not taken over by the new firm ?

SECTION _ B

Answer any five of the following. Each question carries 5 marks. (5x5=25)

2. Pass incorporation entries in the books of the company from the following
particulars.
Purchase consideration T 12,00,000
Value of sundry assets taken over t 14,00,000
Current liabilities taken over by t 1,00,000
Settlement of purchase consideration 90% in equity shares of t 10 each and the
balance in9o/" debentures of t 100 each. 

p.T.o.
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3. Calculate the cash price of an asset from the following down payment, t 30,000
t' 1st year instalment { 42,000 ,2ndyear instatment t 39,000, 3rd year instalment
' t 36,000, 4th year instalment t 33,000, rate of interest at 10% p.a.

4. What is the accounting procedure involved in the amalgamation of firms ?

5. calculate the amount of interest included in each instalment :

Cash priceT 38,000, Down paymentt 10,000, four instalment of T 10,OOO cash
payable at the end of each year.

6. Distinguish between hire purchase and instalment purchase system.

7. Calculate the amount of purchase consideration from the following details.

The purchasing company agreed to issue 60,000 equity shares of t 10 each at
t12.50 per share, 3,000 9% preference share of T100 each at par, g,000 6%
debentures of {100 each at a discount of 10% and pay cash equal to 20"/"of the
total purchase consideration.

B. Prepare an analyticaltable from the following details.

Royalty payable = t 5 per ton of output

Minimum rent = t 80,000 p.a -right of recoupment of shortworking -first three
years.

output during the first 3 years : 12,000 tons, 16,000 tons, and 24,000 tons
respectively.

9. calculate the value of each instalment from the following details :

Cash price - T 6,00,000, down paymen t 10%of cash price balance of cash
price is payable in 3 equal annual instalments together with interest at 10% on
the outstanding cash price.
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SECTION _ C

Answerany threeof the following. Each question carries 15 marks. (3x15=45)
10. Patel purchased a motor car from Bangalore Motors Ltd. on 1st Jan. 2008 on

instalment system. The payment is to be made as follows.
t 50,000 on delivery
< 2,32,500 at the end of I year
t 1,60,000 at the end of l l  year
t 1,95,000 at the end of l l l  year
< 1,72,500 at the end of lV year

Depreciation is charged at20"/" p.a. lnterest at 1 5"/"p.a. is included in instalments.
Prepare necessary Ledger Accounts in the books of Patel.

1 1. P purchased a machine costingt 4,80,000 on 1-4-06 from Bangalore Machines
Ltd. under Hire Purchase System. The terms being : t 1,20,000 down and the
balance in 3 equal annual instalments together with interest at2O"/" p.a. on the
outstanding cash price. Depreciation is to be charged at 15 p.a underDiminishing
Balance Method.
Prepare necessary ledger accounts in the books of 'P' till 31-3-09.

12. A and B were in partnership sharing profits and losses in the ratio of 3 : 2. The
following was the BiS of the firm as on 31-3-08.

Liabilities T Assets t
Creditors 52,000 Cash 24,OOO
A's loan 8,000 Debtors 60,000
Capital : Stock 76,000
A 1,20,000 Fixed assets 80,000
B 60,000

2,40,000 2,40,000
C Co. Ltd, agreed to take over fixed assets and stock for a consideration of
{ 1,60,000 which is to be satisfied
a) by payment of cash T 32,000
b) by allotment of 480, B/"preference shares of T 100 each
c) by allotment of 6,400 equity shares of t 10 each valued at t 12.50 per share.
The debtors realised T 56,000 and the creditors were paid t 48,000 in full settlement .
It was agreed between the partners as follows :
l) Equity shares are to be allotted in their profit sharing ratio.

ll) Preference shares are to be allotted to A to the value of his Loan A/c and the
remaining pref . shares to be allotted to partners equally.

Prepare necessary Ledger Accounts in the books of A & B,
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13. On 1-1-2001 X Co. Ltd. took a lease from a landlord on a royalty of t 2perton of
coal raised with a minimum rent of T 40,000 and powerto recoup shortworkings
during the first four years of the lease.

The annual output was as follows:
10,000 tons
16,000tons
20,000 tons
30,000 tons
40,000 tons

Pass necessary Journal entries in the books of X Co. Ltd.

14. The following are the B/sheets of M/s A and B and M/s C and D as on
31-3-2010 on which date they decided to Amalgamate their Business.
Liabilities
Capitals

A
B
C
D

Reserves
Creditors

A&B C & D Assets A&B C&D

A and B were sharing profits and losses in the ratio of 3 : 2 and C and D equally.
The terms of amalgamation were as follows :
a) The new firm was to take over allthe assets and liabilities of both the firms.
b) The assets of A and B were valued as follows :

Machinery { 40,ooo, stock t 24,ooo, Debtors T 60,000 furniture and
investments at book values and goodwillt 20,000.

c) The assets of C and D were valued as follows :
Machinery t 48,000, furniture t 18,000, stock t 56,000, Drs. T 26,000 and
Goodwillt 24,000.

close the books of M/s A and B and M/s C & D and prepare amalgamated
balance sheet of new firm.

|il]ililililtIil ililtililtil]ill

2W1
2002
2003
2W4
2005

80,000 Machinery 96,000 40,000
40,000 Furniture 4B,OO0 12,000

60,000 Investments 16,000
60,000 Stock 32,000 60,m0

24,000 Debtors 64,000 28,OOO
56,000 32,000 Cash 4,000 12,OOO

2,00,000 1,52,000 2,00,000 1,52,000
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oJndlaadd" d* ddferi u$oa. de ddf oddr eroddsb. (10x2=20)

1. a) oorsdd.rodded> ?
b) d:)od:dodre>dd dradd d"gdo fugri &€addd d)dddO_droerc esa$e3 udosro.
c) oaa;dd uioddO_dOdzoarl doabdlz"drtooa&dd: ad t
d) dcd> doqbiado$O_.)3ioJ:a-oddl a$ouxid erao$dlddda,ldodoud;d "r aE ?
e) dad.: wfiand aoddedr ?
f) aDoea deJo1ldle3d*aa$d addr aqrEddd$4ee&.
g) aou:aaod doCoexdCr olndoaddo add: en:deddddlaexr.
h) r-od trrwoiod do{ocdiOobtud dodOobn doderdJd add: urdeorlddl8e,rr.

' 'i) DeJeaao ayod d:t ddd dfre.r, andri.a&d add: dracrdd$ed: ? udor:o.
i )' zD a ri drosbrc d o$ a qiE d d,r dd> etd*eo dddl 8el
k) eo$e3olndd u1 "rodded> ?
l) do{o$ d)dddOjaboa,ld:d uxlo$Q, dod do{ob driddood: doerladd deri

d.ghoio"aor- 
i 4 a a

J

a?drod - D
obd;emddo o*$d/erl w$o,rr. ds ddf ocb eoddq;b. (5x5-25)

2. & Ednd adddpod dod0oJ: d)iddo_droerc errs)eJ udouo.
$oe6 deJ dro. 12,0O,OOO
db:rdood u1 dfJe.rr 14,00,000 do.
dbxrdood zsoQ raoznooddc dped drd. 1,00,000 .
$oeo deJob oejeano de. 90 d& dra. 10 sadnd" ded:rld doddO erupd dea
de. 9, 1OO dro. deJo$ nae,r ftidd a.6*aO"^ 

D .-)

3. er ddnd cdddpod z.od: qr&o$ ddd: dejo$dldod> baosro.
dlcdd dea drD. 30,000
tcds mard dod: dro. 42,000
addde anard dod> dra. 39,000
d:odde acard do$ do. 36,000
oae2de anard dod; do. 33,000

d

ua dd de. 10
@
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4.mraaodo#ddoo3oezsdoJ:e)-ud:ioipdeJd*aqaddddlee'l'

5. do$rldO-deod>d ?rqo$dldod>bao$:o'

dddr LJeJ dra.38,000

dr:odd dea do. 10,000

do. 10,000 d4 do$rlOQds ddrd dodato-&ed)dd:'

6. emari dradc+Ddo:r ddae d:dl do& d'o+boad dqlob d,o'ddde$ ?

7. dddod addrlqod $oeo dejo$$'dod:aaou:o' $oeatud dodpolr: 10 do' deioJ:

60,000 ma:Ed, ded:rrdd1d", Ti;;ffi{.TC 3'000' d* 9.d d'd$ dqd

ded;rrdd1*"$ itSr*,T:?*,iJ;; q* *^lgoi d' 6 9^a9 t"9,0 d"" Ljeio$

3,000 raet agrldQd*. t o o u*]ro:rg aaa-or-oeal:. ?,rlrd$oea deJo$ de' 20 dd1

dddJ doddo-Oedel ?"q6'

8. dr dddod addrleod oaxdd ad-edma dgdofno'r''

oedgje@doagsdd-djo.5de*o*-5drid04?Dari-aaarddjo.80,000
dodd d:lod: do4,d d$*- dodeldoJ: *,"a, ddrrlgb dode; $JDdJ ddrd wo;jd

;;;n rd;:;-t^ooo1t o,ooo *,4 24'ooa utd:f+b'

9. dr dddod addrleod $e doed dPe'rrddldod:aaouro'

ddcbdej dro.6,00,000

dlorld deo, ddd: dejob de' 10

erued drld rjgpqd-& d$ dod:rldO-znt drl* ejdo$ dreej de' 10 uqdbd

aadg dDdrdd 
aqrorr - r

o:ndlmddjod}"o&-9#9deru$ol . r .dgddJl5eloddgb.(31. |$=45)

10. a. 1-1-2008 dod: do3eef qd& sjorldo& doeooqddood ?^,od> doeooddr'''
- 

**"odo$ dqgoJrO-aDoea$ed'

er ddd odod U ti*A1a-deden nd'

do. 50, 0OO dddl, raddlddo$)drrd

d!a. 2,32,500 rlddldode'rde ddrd dodo$O-

do. 1 ,60,000 rld$.oddde ddrd dtddobO-

do. 1,95,000 riddl$ndde d-';lrd dodo$O.A

dro. 1,72,5}Oddd1oao*deddrddodo$Od ,|, --_,d
iddeo$,de.20doddnd:dld: .de.15dd*ua*dddlmdgdDdJddjoqdo-
udrhoad3$d.
du3 e et ddd d)4dd O-erddrdmd anddddlddoo:o'
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1 1. P ao?^DddJ dro. 4,90,000 deJo$ ?.ocb o$o$des,JorldodJ doeo_lo,otu[,3dddood
1 - 4- 06 docb ria ari dqa o$op D eaRl erEod lq,aa dd* d$ dddo#oed.

;$oodd deo do. 1,20,000, erupd deaddl3 dd; aoard dod:rldo_arard20% ua
dabed aade *Ddd) cb. .aed ddng 

id.deobo_1 s%p .adddp dDdd cb. p ddddd{
3 1 -3-09 dddri eri{md anUAF*.tdo:rro*'

12. uoc aoe,roodobo_A db* B erdd: oceloadd;. enzJ ab* d{dd:o3:2 gi
doe^:doQ,€d$ sdd31 -3-o8d eFd dqol, * dddodoed. 

1

d/a. uldsb

52,000 ddeb

8,000 nbrddsf

oarait>

1,20,000 td esadq;b
-i

60,000

2,q,w

-7-
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c^L/cjL QrG)f.,i

rcoenod$
o

6rf$f)

a obodxae:

uodaaddst)

A

B

24,000

60,000

76,000

80,000

2,40,@0

-p$ 
*Q ad ugdsbc dodp otuoics" do{ob1,60,000 dro. dd dooad dd** e..1

elddl€r dddodats dode.u r.a1d&.

a) do. 32,000 dlddcb doddO_

b) 480 de. B dodo dq decbdddlz"odE* do. 100 dod
c) 6,400 radod, d5oorlddoo {B deorl do. 12.s0 (dar$ aJeJ o,o. 1o),

do. 56,000 c$sdrlsod aiddc r$dg do. 4g,000 dO*prf OeG {Bear na6
a$artopiennd.
aaqrrodogd dd:d €r dddod udpd adrn4f.
i ) radnd, dedrdddl en d d{ gi dn eadg_doddor{d cb.
ii) A.dxao! xoder de decbdddl&ea ?D8 deddddlmeroado%od^ iabaon

doa$odtrdld:

A ** B dddddO_erddrarod mddddldolno:r.
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X dodp co$tud 1-1-2001 dod: &,?riobdl dro ul:Eod&od ddaclrod: n^lori
dro.2 dod oauddddtded?Darl do. Zo,oo0 ob* dad: *{#dqgQr*#d%
do d e-r d e NE g\)_, ddr iTd ef- iA oOu g: d o cJ: drg d d oo od O- d e ol d. a-r &r d wd6dv'>

drdddodo9d. "

ddr erusjl

2oo1 1o,ooo t:d:;{d.>
2OO2 16,000 e^t$;i*b

2003 20,000 t"td:ftt>

2OO4 30,000 t^t$;{dc

2005 40,000 ards*b
X dodoob d)dddO-drDerc atrdcbdldoeol.

M/s A & B $* M/s C& D 'add:31-3-2019 do-,"qddu:,:sldiodosd' dt

O oa odd odr ddfaa e;: oa od d o{oOd1i o olo e r d rto gdw g e dto r &tu 6"od'

D3do?,toodd) A&B C&D u:1i i+t A&B C&D
a - 0

uodardrldc: Crodgedddea 36,000 40'000

A 80,000 aedoedddeo 48,000 12'000

B 40,000 droadd$ 16,000

C 60,000 erDe$ 32,000 60'000

D 60,000 nbtdd$b 64,000 28,000

eQ 24,OOO ddc) 4,000 12'000

donec 56,000 32'000

2,00,000 1,52,000 2,00,000 1,52,000

AdJQ B enepoddQ3 : 2 {dncod{dor^3do9:"9eJ I d)Q D idDd {dneado-
doa:da$ogoaod.doo3oeegd-de?Jod'dd$bdrdddodiiod'

a) aergul*q** w;ozmoorlddldrDd do{o3r dridr tod"a:e$.

b) A $dl B ddd ulddd1* dddodod dFsudaia3ed:

o3:od.gedddeo-do. 40,000, ene$ d". 21,900, nbsdddr - do. 60,000,

aeaoe-**ora d)* drDadd* dddd dejddo-ab{ $oa* drD. 20,000.

c) C tbQ D ddd ulddq dr dddodod dPe-:rdndd dDd:d)c>'

oJrodgedddea do. 48,000, aedoedddeo do. 18,000, m4s dro.56,000,

$sddvrc dra.26,000 d:$ i^:oad: do.24'000'

M/s A d)4 B oarlo M/s c d)* D dd ddddsJqd"qo. dooSoedd do{oJro-

ertr"d dqobdldodtdotu
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